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4. AAFL U = {1,2,3,4,5,6,7,8) & F FEHAF A = (1, 2, 3, 4},
B=1{1, 3, 5, 7}l thato] A° n B 5 F517?

D{1,3 @24 @35 @48 OGI6 8



Q@ x—->x-1






7. BEFA#BAAL?

D A=1{2,4,8}), B=1{8,2,4}

@ A=1{1,3,5,7,9}, B= {x| x& 10 °|5}°] &}

® A={a, b, ¢, 3),B=1{3, ¢, b, a)

@ A= {x|xE=70l5t9 £}, B= {x|xE 8 ol5l9] &5}
® A=1{5,10,15,---}, B= {x| x= 100 ©]5}<] 59] ¥}
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@ (ANB)c(AUB) © oNnA=A
© Bc(ANB) ® BU@Z =0
® ©e ® 006 ® 0O

@ 0.0.e ® A.0.0



U={ab,cde & FE
o,

H A
fa}, AN B = (e} & W, A B =7

=]

D {a} @ {b} ® {a,b}
@ {a,c) ® {a,b,c)

A3t A, B ol 5t A - B = {c,d},B -



(lal + 161)* = (la + b1)?

= lal® + 1b* + 2lallb] — (a + b)?

a® + b2 + 2|ab| — a® - 2ab — b?
= 2(lab| - ab) 0

< (lal + 1b1)* = (ja + bl)?

o al + bl = |a + b|

@ lal > a

@ azb,b>cOlHax>c
® la]* = a?®

@ a-bz0°Haxb

® a>0.b>0,a>>b20Ha>bh



11. x>0,y>0¢ o, (3x+)2}) (y+
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® flx) = -

= |«

@ f(x)

D flx) =x°

® f(x)=5

@ f(x)=4x
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22. thE BA9 0|7t el ALY

® a=b°lH ac = bc °|t}.
@ 9 9] Hjg=o]H 3 9] vlj4=oltt,

® /A = 90° ol¥ AABC £ AZHazkgol}

oflt

@ a=30°]"Ha?-4a+3=00]|t}.

® ab 7} S840 A, a,b 7} S 5-o]tt.
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Ay o tiste] x—3#0°] x2+ax—18 20 °]7] 9
o, a °] 3F-2?

D -3 @ -1 3 1 @ 3



24. 2 +y?+ 22 =28 WESE A5 xy,zo) tEke] x4+ 2y + 329
Aelgre 7o

D 14 @ 17 B3 72 @ 27 ® 343






